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|I| Shade in 2 more squares so that Izl A shape is made of 3 identical
the dotted line is a line symmetry. squares.

N
S

The area of the shape is 75cm2.

What is the perimeter of the
shape? Py
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|I| A bag contains 2% kg of flour. Izl A rectangle has a perimeter of
84 cm.

Floyr

&

Another bag contains I& kg more

It is divided into U identical
rectangles.

flour than the first bag.

How much flour is there in the
two bags in total?

What is the length of one of the
smaller rectangles? A
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[1] Leo has €25
He buys the following items.

&

He has €12.50 left.

How much does the pizza cost?

Izl Alysha and Beth go on a bike
ride.

« In the morning Alysha cycles 3
times as many km as Beth.

+ In the afternoon Alysha
cycles 14 km and Beth cycles
U8 km.

+ They have now cycled the
same distance.

How many km did Alysha cycle in
the morning? P it §
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|I| A box of 5 oranges cost £1.80 Izl Jane reads a book.

+ On Monday she reads 26
pages.

+ On Tuesday she reads 2 of
the remaining pages.

How much do 80 oranges cost? . On Wednesday she reads the

Show your method. final 36 pages.

How many pages are in the
book?
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|I| Tanya bakes some cookies to sell. El David has 3 number cards.

+ The sum of A and B is 120

+ The sum of B and C is IS0

+ If you subtract B from C you
get 12

What is the value of A?

+ By Ipm she has sold 29 cookies.

+ By 3pm she has sold 501 of all
the cookies.

+ At 3pm she has 72 cookies left.

How many cookies does she sell
between Ipm and 3pm?





